
Questions? 800-233-4655
agricover.com 

Use these instructions to install bungee return kit on EZ-LOC® or ROLTEC® Side 
Locking Tarp Systems. Read and follow these instructions along with the standard 
instructions carefully before installing or using tarp system.

NOTICE TO INSTALLER: Even if familiar with hardware, read instructions prior to 
installation as improvements may be made without notice. Always handle components 
with care. If you have questions or problems, call customer service. When done, these 
instructions must be given to the consumer.

NOTICE TO CONSUMER: Before using this product, read safety and maintenance 
sections of these instructions. Save these instructions for future reference.

BUNGEE RETURN KIT INSTRUCTIONS



2

PREPARATION
COMPONENTS

•	 (2) Guides with hardware
•	 Bungee cord assembly

TOOLS NEEDED

•	 Tape measure
•	 Drill with 5/16” bit
•	 Impact wrench with standard wall  

9/16” socket
•	 Protective eyewear

STAINLESS STEEL KIT ONLY
!  CAUTION: To avoid galling of stainless steel hardware, use anti-galling spray, 

grease or lubricant on threads and avoid high speed when fastening. Do not use 
impact tools for stainless steel hardware.

3/8” x 1” Stainless steel bolts, nuts and washers: Use when fastening guides to 
box. When possible, use nuts and washers.

3/8” x 1” Non-stainless steel self-threading bolts: Use only if you are unable to use 
nuts. Drill 5/16” hole, turn 3/8” x 1” self-threading bolt in to cut threads and turn back 
out. Then use 3/8” x 1” stainless steel bolt to fasten guides to box.

1: INSTALL BUNGEE RETURN KIT
A. At rear of box, place guide on end of 
latch plate and adjust to extend 5/16” to 3/4” 
beyond face of end cap. 

NOTE: Ensure bungee cord will clear bolt 
heads on face of end cap. 

Bungee 
cord

Allow for  
clearance 

between bolt 
heads and 

bungee cord

Guide
5/16” to 3/4” 

B. Use guide as template to drill (2) 5/16” 
holes. Fasten guide with 3/8” x 1” self-threading 
bolt in each hole.

3/8” x 1” 
Self-threading 

bolts

5/16” to 3/4” 

Guide



2 3

1: INSTALL BUNGEE RETURN KIT (Continued)
C. Unroll tarp to hang down on latch plate side. Remove handle, if needed remove 
spline. 

D. Slide collar onto roll tube where collar can rotate freely. Reattach handle and secure 
with wire lock pin (if removed, reattach spline). 

E. Roll tarp open and secure in holder. According to box width in diagram, select 
nearest existing bolt location in latch plate, remove and fasten fi rst hole in second 
guide. 

F. Using second hole in guide as template, drill a 5/16” hole and fasten with 
3/8’’ x 1” self-threading bolt.

G. Lead bungee cord through fi rst and second guides, pull snug and tie permanent 
knot at end of second guide.

H. Unroll tarp to hang down on latch plate side. Bungee cord should have some 
pre-tension load. If not, untie knot and adjust bungee cord tension as needed. 

Approx. 16’ for boxes over 144” wide

Approx. 15’ for boxes fro
m 121” to

 144” wide

Approx. 11
’ for boxes up to 120” wide

3/8” x 1” Self-threading boltsTie knot here

Collar

Wire lock pin

Bungee cord

Spline

2nd Guide

1st Guide



010320   60826_DProduct subject to change without notice.


